

TAP ON "F9" TO GET A FRESH SET OF NUMBERS (Works ONLY in Excel).

$$\frac{1}{10} + \frac{1}{1} + \frac{1}{4}$$

= _____

= _____

= _____

$$\frac{1}{10} - \frac{1}{9} + \frac{1}{9}$$

= _____

= _____

= _____

$$\frac{1}{2} + \frac{1}{9} + \frac{1}{7}$$

= _____

= _____

= _____

$$\frac{8}{1} + \frac{1}{2} + \frac{1}{8}$$

= _____

= _____

= _____

$$\frac{7}{8} - \frac{1}{10} + \frac{1}{2}$$

= _____

= _____

= _____

$$\frac{7}{5} + \frac{1}{8} + \frac{1}{1}$$

= _____

= _____

= _____

$$\frac{9}{10} + \frac{1}{1} + \frac{1}{9}$$

= _____

= _____

= _____

$$\frac{8}{3} - \frac{1}{9} + \frac{1}{3}$$

= _____

= _____

= _____

$$\frac{6}{3} + \frac{1}{9} + \frac{1}{1}$$

= _____

= _____

= _____

$$\begin{aligned} & \frac{1}{10} + \frac{1}{1} + \frac{1}{4} \\ &= \frac{2}{20} + \frac{20}{20} + \frac{5}{20} \\ &= \frac{2 + 20 + 5}{20} \\ &= \frac{27}{20} \end{aligned}$$

$$\begin{aligned} & \frac{1}{10} - \frac{1}{9} + \frac{1}{9} \\ &= \frac{9}{90} - \frac{10}{90} + \frac{10}{90} \\ &= \frac{9 - 10 + 10}{90} \\ &= \frac{9}{90} \end{aligned}$$

$$\begin{aligned} & \frac{1}{2} + \frac{1}{9} + \frac{1}{7} \\ &= \frac{63}{126} + \frac{14}{126} + \frac{18}{126} \\ &= \frac{63 + 14 + 18}{126} \\ &= \frac{95}{126} \end{aligned}$$

$$\begin{aligned} & \frac{8}{1} + \frac{1}{2} + \frac{1}{8} \\ &= \frac{64}{8} + \frac{4}{8} + \frac{1}{8} \\ &= \frac{64 + 4 + 1}{8} \\ &= \frac{69}{8} \end{aligned}$$

$$\begin{aligned} & \frac{7}{8} - \frac{1}{10} + \frac{1}{2} \\ &= \frac{5}{40} - \frac{4}{40} + \frac{20}{40} \\ &= \frac{5 - 4 + 20}{40} \\ &= \frac{21}{40} \end{aligned}$$

$$\begin{aligned} & \frac{7}{5} + \frac{1}{8} + \frac{1}{1} \\ &= \frac{8}{40} + \frac{5}{40} + \frac{40}{40} \\ &= \frac{8 + 5 + 40}{40} \\ &= \frac{53}{40} \end{aligned}$$

$$\begin{aligned} & \frac{9}{10} + \frac{1}{1} + \frac{1}{9} \\ &= \frac{81}{90} + \frac{90}{90} + \frac{10}{90} \\ &= \frac{81 + 90 + 10}{90} \\ &= \frac{181}{90} \end{aligned}$$

$$\begin{aligned} & \frac{8}{3} - \frac{1}{9} + \frac{1}{3} \\ &= \frac{24}{9} - \frac{1}{9} + \frac{3}{9} \\ &= \frac{24 - 1 + 3}{9} \\ &= \frac{26}{9} \end{aligned}$$

$$\begin{aligned} & \frac{6}{3} + \frac{1}{9} + \frac{1}{1} \\ &= \frac{18}{9} + \frac{1}{9} + \frac{9}{9} \\ &= \frac{18 + 1 + 9}{9} \\ &= \frac{28}{9} \end{aligned}$$